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Time : 2 Hrs. Full Marks : 120
Note : Before answering the questlons, tead carefully the instructions given on the
OMR sheet.
DHOD aTraven [FPouestd Sno0& OMR 255 DSBS’ BIcED BredHes BT WisHot.
SECTION—I : MATHEMATICS
1. If the slope of the line joining the points (4,2) and (3,-k) is -2, then the value of i is
(%.2) So8ain (3,~k) &3 Botyess 8% 5688y ey ~2 sawd, k devs '
(). =3 (2 4
(3) 3 (4} —4
2. In the following figure, if DE||BC, then x=

3. AABC ~ ADEF, the area of AABC=9cm

WM 3

&4 808 50085° DE || BC ®00@, x =

e , P : -

2 and the area of ADEF =16 cm?> . If

BC=2-1cm, then EF =
AABC ~ ADEF , AABC o5 9 cm? 508050 ADEF 3@ogin 16 em? . BC =21 cm sowd,

EF =
(1) 28 cm (2) 42 cm
(3) 2'5cm (#) 41 cm r i
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110,

117,

110,

'Q'ef*”-i'-l-\

120.

i ted to
2 232. 2p°. 3¢2 ap® (2,8.8) wnﬁgul‘ﬂtion is rela

N
= ; _ 2IOB0D0E.
Is%, 2s% 2p, 3¢? 3p° (2,8,8) DIGODN 0 “SOI @
(1), P (2) cl
@) s* (4) All of these
ey,‘tao‘in
Lithium, sodium and are Dobereiner’s triads.

O8ako, vrdato wbon | @A @ebob @ven.
) s - (2) Ca
(3) ci 4) K

< IV A group clements are called

IV A group sarescemy H359 Se0ReE?

(1)  carbon family (2) chalcogen family
S Hewoao | TS 85 6020

(3) nitrogen family (4) boron family
.Q@S%S Senoo o &'o°S Hevowo

An element X’ belongs_-tu 2nd group and 3rd period, What is its valency?

23 1079 20800 3 $ HAHEL Doss X’ &3 Sarego Gy, Sody
(1) 1 2) 2

@) 3 2 E (4) 4

Valance Bond Theory was Proposed by

S00) 206 Dross B8Boass

1 & . '
(1) Lewis 2 Koese]
oINS £508
n
(3j F’auli_ 3 i
% o3 5 . (4) Bohr
ook 5
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110. The i
= ; maximum Dumber of electrong in M shel is
S8 8065t o
" ;}2 K05 KB Jelg;xnea og)
(3) 18 {(f]) ;j

111, i i
1. Which of the following orbitals does not exist?
808 Tps* & BBYS Dessoore oy
(1) 2p° |

1
(3) 4ar12 s

(4) 243
112. Niels Bohr received Nobe] Prize in
DSy 56 TP0S5° SPands DB, 80 oo

(1) Chemistry (2) Physics
S AR

(3) Biochemistry (4) Biophysics
BDEAKS BT RY

4d eseae.rge;s‘ a8 %8 Mo é;éé@c_na P08)g
(1) 8 e (2 10
(3) 5 : e (4) 4

113. The number of degenerate orbitals present in 4d subshell is

? 114, Presence of 3 unpaired electrons in nitrogen can be ‘explained by ___ principle.

; DT BOS" 3 WBEPED JoTHRIed EoBETRY) 566 DabixL
(1) Aufbau : o8 RO .(2) - Pauli
@9ed® DoHHED ZEEI i T ) SRS s
(3) Hund 5 e < o4y Bohr _
o0& DAHEHIHY e R T
115. Strong ionic bond is formed between ' and group elements,

2O GOITE W00 S U7 BUES B0t DR
¢ (2) A and VIIA

(¥) IAandIlA
(4) IA and VIIIA

(3) 1A and VIIA
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: indi to detect geiq:
d-base indicator acidic o
i i an be used as aci
106. Which one of the following ¢
basic nature of solution? ;
o TPCETTE)?
(@30 @), B2 S8 O¥ETO Be0HE M08 (808 BEVIVED ) DI ED

(1) Turmeric solution (2) Litmus
S0P [@Heso oy

(3) (1) and (2) (4) None of these
(1) S08c%0 (2) 298 5%

, then it is called acid rain.

107. If pH of rain water is less than
38D D3 pH De0d %08 BT &P, T &) 80 eoLr.
(1) 56 (2) 76
(Elinit:6 (4) 86

108. Tooth enamel is made up of
S0BB0 B}, IS &° BB G008,

(1) calcium sulphate (2) calcium chloride
s2datho 585 s 9ao 36

(3) calcium phosphate (4) magnesium sulphate
s*9aibo Panes Ao $8Bye5

109. What do you observe On pouring potassium hydroxjde on red and blue litmus papers?
FerA0H0 TIED)E [°522050 AE) 508055 1) Dexo sRto D DD, Sk H DICLRY MHBRO?
(1) Red litmus remains red and blue litmuys turns to red

DY Dend IEHTS dottrso, 00 b DeND DHHT B85
(2)  Red litmus turns to blue and blue litmus remains blue

259 deyd doome By, 00 Be Ded DOOITS docsss
(3) Red litmus becomes colorless and blue litmus remains blue
AE2G) Gy DY B0 @IS, se0 B Qeoéﬁ RO &0y
Red litmug turns to blue and blue litmus turns to red

D59 Bl boone sresys, DB DO ey i reekoiss

(4
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101. What ig the structural fo

808 706 e G ed
(1) CH,—0—cH

| rmula of simplest ketone?
(simplest) 8e5°5 Ha0

3 2 2
6 (2) CH;— NH,
Il 0
(3) CcH; —c— I
i St (%), €H; —C —0oH
102. $thene and ethyne differ in the
f‘fs 20805 ARS8 2803 wowes
1) number of carbons
s5y5o 50335“ 953 (2) number of bonds
pr T 200 Hog)
(3) number of hyd 2% S
3&56 aasez -:603);’ i (4" (2) and (3)
| i, i (2) 20800 (3)
103. Identify the dimethyl ether.
22036 455 B HBovod
O
Il
(1) CHz —C—CH; (2) CH,—O—CH,
o 0
| I
(83) CH; —C — OCHgy (4) CHy; —C—OH
104. Saturated hydrocarbons contain
HotyD B S E)Sen -¥OR ot
(1) at least one double bond (2) at least one triple bond
€Di50 2.8 Bgpodo £d%0 a¥ |Bwogo
(3) all single bonds (4) at least one ionic bond
@S’a DE 20EH8000 Eh%0 2.8 eairdE wogo
105. Aliphé._tic hydrocarbons are
38 10|50 @D ‘
fﬂb closed chain hydrocarbons (2) acyclic hydrocarbons
Ll = 5
L e e
(3) open chain hydrocarbons (4) (2)an .
2) SnBain
25y %000 L' Syse e O
- SPACE FOR ROUGH WORK JDUORS R




96.

97.

98.

99.

100.

Reactivity increasing order
208 Muresees® Bariod R
(1) K, Na, Ca:
(3) Ca, Na, K

B0 28?2

Poling process is used to
29of @D B8 5780 FeeEes.
(1) concentrate the ore
208 Pdes Ao BEBEs
(3) heat the ore with O,

of the following

(2)
(4

(2)

(4)

(2)

(4)

metals will be

reduce the ore
283 s\ot’ugﬁeao
purify the crude metal

S

pure silver
35D ok
silver sulphide

odyaS& oy 6 Daneo
Corrosion of sﬂ§er results in the formation of
D06 Ko SoBsdEy M.
(1) silver chloride
degh 538
(3) silver nitrate
degd DES

During corrosion, a metal will
S5m0 §0550 FoBHH, & S
(1) be oxidised

238158830 Bodais
(3) be reduced

50588890 Do)

y alkyl : et
926 1D 980 NH, 0d, 2. 3{@“3 8Toup will result in the formation "

(2)

(4)

e ‘rﬁ@q)&

lose electrons

DO FTROR SR
(1) and ()

(1) S08atn (2)

230
(1) aldehyde WEORoDs __ yomy Desesso.
(3) amine §5°§
SO (4) €ster

D SR
RK /mmg %%:).D




SECTION—IIJ : CHEMISTRY

91. Identify the correct statement.
©8 ©a0d RS0y MBoBod
(1) By losing electron chlorine becomes cation
OEI §'SH5¢0 moe §8% SeoctIRom SrK%)
(2) By losing electron chlorine becomes anion

DO OR §%5H¢0 wroe 8765 esvatrsore 5k
(3) By gaining electron chlorine becomes cation

DO D060 wrgoe §'85 SeaomRome Bty -
By gaining electron chlorine becomes anion
DOFOR doesto oo §88 essoirsom S8

(1) +1 (2) +2
(3) +3 (4) +4

93. Linus Pauling proposed the concept of
B35 200 (5858003 555 967

(1) ionic bond (2) hydrogen bond
0708 2080 PE=S 2080
(3) hybridization (4) covalant bond
S08855e30 dodredoh wodo

94, Electronic bonﬁ_gurafion of 072 jon is .
072 eos0 8, o)e)LgS DT80

(1) 1% 252 25° 4 Lsae 300
B) 1 25% 2p° a0
- 95. The number of electrons gained by non-metallic element is equal to its
g 06% 3050 2055 gRE0 SoRs TR Saovido,
(1) valency | (2)  group mumber
» b:n,;)i - (4) All of these
2 0t §%0
—— ¥
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poipal axis, &1concare leng

86. Irrespective of the position of the object on the pri 91
always forms an image of nature e i3580 (58B0D S5
SR FEREOD G003 08" Soroto BEow, wl Hers S S0 IR 2
(1) real, invert (2) real, erect

Des, BoEoeonr ) D23, DLV
(3) virtual, erect (4) Does not form any image
2075, DYROHT @00 )L

87. The lcns which is bounded by one-curved surface is
&8 5800 KIR &) Lo
(1) biconvex (2) biconcave

BsEr05758 BeHers 92
(3) piano-concave ' [m/ concavo-convex
DBO-J)ersE NETSE-E208T°5°8 .

88. If 25 cm each is the object and image distances due to convex lens, then its focal
length is B3
25 cm © 53 S0 HBain [SdBowESTEo OA &) $08°5°8 Seo¥o WBE); TgrgoBE0
(1) 50 cm (2) 25 cm
(3) 15cm _ (4) 125 cm

89. The angle between paraxial rays and principal axis is
é-ungr‘)dbé S8ero HH8an L.;.’quwﬁﬁ)'ﬁ 0G5 60D §%30
(1) o° (2) 45° 5
(3) 90° (4) 83°

90. Splitting of white light into VIBGYOR colours is callec_]-

Beé 5o\ 5708 VIBGYOR Sothenr 98259 51805
(1) scattering (2) dispersion 4
D68 Seao - 8 Se0
(%) total internal reflection (4) refraction
.‘30;])*9;0('66 50“«“::9:60 E’the;j:);oo
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1Tl -.-- '.':’{"_'3_""_"‘.'_ -;,.';
e RO ST
LRy

e of (1) refraction | o
(2)  reflection

28 )

(3) total interna] reflection (4) dispersio
n

SOP o e")b‘::g;ﬁo | 0
84. A rect_angula; tank of depth 4 m is full of water of refractive index 4/3. When
viewed from the top, the bottom of the tank is seen at a depth of F.
4 m S0 59RS ok B8 SEBREY &G 4/3 5885550 005 KRS DS 2o dos. 2 RS0 H00d
BIOBYE EG D g0 E0dos Sy '
( i] 3m (2 2m
(3) 133m ) lm

A convexl lens gives a virtual image when the object is placed on the principal axis

85.
2. Er0amse Koo T [SFIREOR IREH0 9 SHD GoDIHE 2y (HSBowo iya008?
(1) at infinity
@508 E7°808°

(2) at centre of curvature
gz Bolso I
between focal point an

oS DoY) S08050 ﬁ')g Boo D&
. focal point and centre of curvature

d optic centre
(3)

4) between
3 0% BOGID) 458050 H(Fe° Solo B008g
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7y 66 n, HELSS Koeasren KBRS Botks afrssees® S0BIrren S 1. g B05 1 escnsid
e Ih Y. _ns
) —=—= — =2
( ) Un ny (2) Uy n,
r"J) El = n]Q ( Ul n2
& Vs n? 4) "J‘* = -—-';.
SRR s

ess of
78. Formation of dew and fog is due to the proc g
' ab
FOARTRE FOBATD SURI0EY D)EH0E) Se8ER ©OVM [P

(1) melting (2) freezing
EdHH0 SoDefHH0 |
(3) evaporation (4) condensation
SSVEREE : Ao BESE0

temperature of
79. 40 g of water at 40 °C is added to 10 g of water at 80 °C. The final P
the mixture is
F -
40 °C éagtﬁé SORS 40 . He3 80 °C 8116 SRS 10 . 538 5ddDT0. Jq)dib MR cﬁnéb 8
éa'gjﬁéﬁ

1) 48°C (2) 40°C
(3) 120°C | (4) 64°C

80. A light ray bends away from normal when it travels from

508 $8£30 ©02)0 0& ETEorm DoRDDE &octy oDy I8y

(1) air to water (2) water to air

™ 008 He3d

563 S0 8
(3) water to glass (4) air to glass
3 2008 rresi ™9 2008 rress




The C.G.S. unit of heat energy is
ags88 C.G.S. (D080
(1) joule
S
(3) dioptre

(2) kelvin
3950

(4) calorie

SCi3E 3%

75. If 27 °C + x = 300 K, then the value of x is

27 °CiH x= 300 K @00d x 9e0%

(1) oK : (2) 327K
(3) 273K (4) 300K

76. The pair of substances which have the same value of specific heat is

28 2850 e KORS 20w FTAY ovhoen

(1) copper, alumuuum (2) zinc, iron
5756, eergodao 2208, aoso
(3) ice, kerosene oil (4) water, ice
;,0;59,- 25%,§ | 5%, Hoo

77. During the process of conversion from liquid to solid, the internal energy of the
water

(550 206 97 BTG 16> (HEAHS’, e 0Bl 5

(1) increases (2) decreases

it BIRBOOH

(3) remains constant (4) None of these
Fore 6060l 239 5%
& SPACE FOR ROUGH WORK /03508 21900

[P.T.O.




[
) . . s — - i
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: _ i is the pr
The magnetic force acting on a moving charge in a magnetic field is the prodygt of

71.
three quantities namely

O, 08 FBoS* Sthentu) ediop SHBaL echHDy,0b Beo 808 BT TR ogHw
(1) charge, speed, electromotive force
%0, B8, 3):5355::3305 2OH0
(2) charge, magnetic flux, magnetic flux density
e33%0, A, 08 WP, ©0R), 08 9T 0[S
(3) charge, speed, magnetic flux density
%0, H&, 0,08 LPTT Aol
(4) charge, speed, current
&3%0, 38, RS (a0

72. An auto driver started an auto rickshaw with the help of pulling a rope. The device

TG AP0

(1) multimeter (2) transformer
2092638 Lw@;@»esés

(3) dynamo (4)  voltmeter
gsdr 5 2006

conservation of linegy momentum
BHas 5531 Dgdco

conservation of energy

8 D0
SPACE FOR RO UGH WoRrgk PRI R




g 1A At are the oly, .
induced EMF is change in magnetic flux ang time respective]
' | ively, then the

(1) north-east direction

(2) east-west direction

&éﬁ_éﬁﬁd{) BFen i 0250 ke

(3) south-east direction (4) north-south direction

ety B3 . &B5-658m B%en e

0. An increase in magnetic flux through a coil of 100 turns in 0:1 s is 0-001 Wb, The e A :
maximum induced EMF generated in the coil is |

(2) 10V

(8) 01V ('4)  100 V

SPACE FOR ROUGH WORK /98508 955
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7. In t
ok AD _ 3 ] then AE =7 inrie
: Bt = and AC=56cm
I AABG DE|P* DB~ 5 4 20y
, | =7
s piowo ABC 3069, DE|| BC, 2D _ 3 56000 AC =56 cm 0003 AL
(1) 3 cm (2) Scm
(3 2lem ' (4) - 7 cm
5. In the given figure, PA and PB are the tangents'to the circle with centre at O. i (1)
ZAPB =36°, then £AOB = ' (3)
aa)d $e08", PA 2805 PB &> OBogorr o 5ym708 $ysidees. LAPB =36° wo0d, LAOB= g
. the
2.8 |
Py
(1)
(3)
N7 ; 9. If
G T2 . ‘ (2) 134° : he
@ 1440 (@) 154° .
, (1)
6. The area of the shaded region in the given figure is | 3
| 3955 5006 46 Sonds ($B%0 g, Pregio | gt
s ' SC
(1
(3
_ % OO
(1)  4n sq. units (2) 16 - 16r sq. units si
(3) 16 - 4n sq. units (4) None of these U
(3

BOY %)
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then
64. If Ris the resistance of a conductor of length [,

67. The phenomenon of electromagnetic induction involves the process of

65. Two currents 3 mA and 5 mA are 1l

66. 1 tesla =

3 Producing induced current in a coj

I 3 No irso G, A5°S0 R @ond

(1) Rey (@) Kot

B) R\l (4) R is independent of I
' [P R esgro5eicso
owing towards the junction in a circuit ang
three currents 1 mA, 1:5 mA and x are flowing away. The value of x (in mA) is
3 mA S08ain 5 'm.:k- &%) Bocd dExS FIHen 2.8 g S00H0S%D Ho8 DY HoBasw 1 my,
I'5 mA 208ato x e 508 08 &rsore (332D x dess (mA oS®)
(1) 8 (2) 105
(3) 25 4 55

1 8=
(1) .i weber | 2) 1 weber/metre
1 306 1 Ja38 /20608
(3) 1 weber/metre? (4) 1 watt/metre2

1 328/ 50062 1 e /206082

Deaham;08 G0 et H8at
(1) charging a body

B3859%> eBEgres0 Sanco
(2)  heating a coil

é?{éa%g.’éo 3¢ Baheso

&?m_gejsf (288 De5558 Sent Baseso
(4) Preventing damages due to overload
L5BSE 9 Hipeis) DarBowio

68-
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550

60.

61.

62.

63.

6 watt X second =
6 TR X VB =
(1) 6 volt
6 S‘§
(3) 6 joule
6 &5

The relati i
tionship between current and voltage is established by the scientist

(2) 6 ohm
6 &

(4) 6 coulomb
6 Srerrod

3@5355 P58 25805 S"Gee8 Dol Ko HororeR) Kerd) DS TG

(1)

(3)

Faraday

ol
Kirchhoff

8o

(2) Oersted
SR8

(4) Ohm
8.0

The electrical energy (in kWh) consumed in operating a bulb of 40 W for 5 hours a
day in a month of 30 days is

40 W 23850 SORD 2.8 D85S weqyd 5% 5 Kotoen DATRY, 30 Sleres Ko J0&" 2080 ey

365.755 B8 (&s° ALY Kosres®)
(1) 12 -
(3) 3

Which of the following is not a measuring-

598605 §7ODD 0% o°F

(1) Charge
B0

(3) Voltage
5%

SPACE I

(2) 6
(4) 15

function of a multimeter?

(2) Current
D TR0
(4) Resistance

o6%s0
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C Jistinet vision shifts to
56. In old age, the value of least distance of digtinct vision
TV MR SORETO densd D780 DO
(2) smaller value

(1) larger value
BED),D DO P

Q)R DeVD Pa)Ed )
2se
(3) Does not change (4) None of the
DAV DIPHED D 5°)

57. Electric power is the product of current and
DS 50 VIO DS (FiTro Soban o emo.

(1) resistance (2) charge
26%0 €580

(3) velocity (4) potential difference
BKo 2 Mgaﬁ;é 3 T

. Three resistors each of 4 Q, 04 Q and 0:04 Q are connected in series combination
Their equivalent resistance is

4 sz 04 Q 298050 0-04 Q devden EORD e DB GreR FHES PowH0 DY, 63 298 d6%%0
(1) 48Q _ (2) 444 o
B) 4@ 4) 044 Q
.. 59. Pick the co‘mé"t answer from thé following two statements -
808 Bot 5750 %308 SO $I7TH0 JoBE0d -
(@ Ohm’s law is applicable to semiconductors,
SET500 8.5 PSRy eoﬁm
ths law is apphcable to metallic conductors.
&Y e 6.5 RS See33me,
1) Only (a) is true | (2) Only (b) is true
L (@) dr@do pso (b) S585 Deso

ﬁoth (a) and (b} are true (4)  Both (a) and (b) are false
1, &m (b) Boisye ey (@) 5080k (b) Bocr B39)&

SPACE FOR ROUGH WORK / DB R0
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red

(1)

(1) H20
(3 H,

20 cm a‘qs"éoédo SORDS geos -anmgéo

Q80
D (2) yellow
g V-

(3) violet 550
&e° (4) green
SRR

52. Blue colour of the : ;

ne s
ot Ky is due to the scatteri .
: tering of light by the atmospheric molecules

e35730 DO BoHeS® K55
(N}
%0 5830, 1808 AmaD b Trmmsses SsrenDed sod $85500 Dotto

(2)
(4)

'CO2
N2 and O,
N,, 998050 O,

53. The power of a lens of focal l.ength 20 cm is

02D
2D

before the retina
BT 500

Does not form an image

($SD0R0 JEYEE

e distance between

eye-lens and retina
Koed ¥eose0S DoBain DeSard s
retina and object

B Mobain DR ICUL‘D{\"

() 5D 2
B) 1D (4)
54. In hypermetropia defect, the image is formed
b 5 808" D 8E0 R
(1) beyond the retina (2)
Bedme esde
(3) on the retina (4)
BESTTRD
. is th
§5. For a normal human-€¥e 2:5 em 1;”6:”3
e HIRRE ¥oe38, 2:5 cm Bed 8 o)
(1) eye-lens and corned .
kol Euos08 005 gREERD
(3) retina and cornea iy
;B0 SQIT P



=

: X i S

47. The coordinates of the point P which is equidistant from the three vertices of th
AAOB as shown in the figure is |

S50008* 273 AAOB 985650 B0, 03¢ HTre 006 SET S0’ Yy B P G, VWiry, 5
¥
A(0, 2y)
P
< >—> X
(0
(0, 0) B(2x, 0)
v
(1) (xy) (@) (@x)
XY (y x
<) (2’2 ) | (4) (55)

48. In what ratio, Y-axis divides the line segment joining the points P(-4, 2) and Q(8,3)?

P(-4,2) 58050 Q(8,3) @Bocdeso % Bar P0G Y-0950 ) DHAS® de5e0087
iy 3:1 (2) 1:3 B h
B 2:1 (#) wtuso

49. If the centroid of a triangle formed by the points (a,b), (b,c) and (c,a) is at the

origin, then g% 453 . .3 _

(@,b), (b,c) 508a» (c,a) Bokrses® Hsa
) NG |BEeso &.Jogb ASTeRTTY gogﬁo QAT*O HOKEI) ‘i)'(g

o o
a+b+ce (4)  3abe

50. If the points (1,2), (~1k) and (2;3) are collinear, then the value of k i
. 18

(1.2), (~1,k) 50Bas (2,3) e dososyen SBHATBB, k Devs
(1) o (@) =1
3 1 | (4) 2

=]

SPACE FOR ROUGH WORK /98598 gpitiao
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tion

- !

st th a o .
42. If the area of a rectangle is 112 m? and its length is 6 m more than the breadth,

43.

45.

46.

then the breadth of the rectangle is

w8 8 D50 k), DTOF 112 m? Sbat G0 Guok), 265, Dy 508 6 m I €02, ¢
8§ DBo8iIvo Bos); ke

[1)8 s (2) 14 m
(3) 10 m (4) 12m
Find the 10th term of the arithmetic progression 5, 1,-3,-7,....
5,1,-3,-7,.... 95 eo¥ B& 0 105 56550 a1y ) T
(1) 31 @y -31 =y
(3) 30 (4) -30
The sum of first 10 terms of the arithmetic progression 34, 32, 30, .... is
34, 32, 30, .... & ©of @G J0&1 Mo e 10 Stre dnso by
(1) 200 (2) 225 el Ay
(3) 250 (4) 275
. : 4 ] :
The 12th term of the geometric progression (G.P.) 2,1,5,z,§,... is
2,1,1,1,1,... e BES™ 12 56860
248
1 1
(1) 2o (2) 38
oy il 1
(3 S (4) 510
Which of the following is a geometric progression?
1808 T&* e IB?
) Loy 9 2) =2,-4,-12,...
;7 24’8

2
(8) 3,4,6,12,... (4) x,1,x%,...

SPACE FOR ROUGH WORK /még'éﬂ}g "r&’?ﬁ;ﬁm
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+ey =
: =0 and agx+by+cy
38. The pair of linear equations ajx+by+c; =0 _

0 hag
! unlr.
solution, then

42.
f
B BPoh HSHoESeTve 23K JSE Juiss f‘-g)oa, .
QX +by+ep =0 DBako apx+byy+cy =0 &R TP %
a oo
(1) il_;tl_)l_ (2) as b2 15)
a b
a_hb_a (4) 3_21"_'% 43.
89. Nimra went to a bank to withdraw ¥2,000. She asked the cashjer to give ﬁer %
and ¥100 notes only and she got 30 notes in all. How many Notes |
¥50 and ¥100 respectively that she received? 44.
Dr 2,000 SreraDed SROSTSEnE ok e75055) 3)08. e SHA0ER e Q008 50 ey
H6ay 100 Erarabe Sey Srmpds 335900 §%808. 3o 30 S, 8 S, e, 5118 3
n
50 dramaihe S 260 100 Erseare S St 8?2 '
(1y 20, 10 (2) 15,15
(3) 10, 20 (4) None of these 45,
WD 59
& # & Toot of the equation x2_ e o _ o T =0 then the othier ront &
Al X + =0
_._1 PX+9 =03 585002 o &8 S0 5805 p? =4q DB, 05" Byreesss
(1) -2 2) 2
146.

if the
then t

agagc
63 s
(1)
(3)
Find
5, 1,-
(1)
(3)
The
34, G
(1)
(3)

The

2,1;-

Wh



'83. The number of subsets of the set A=

\p,q} s
A={p,q} & I8 Ko &% DTy oy
(), 2 2) 4
(3) 3 (4) 0
Which of the follom_riﬁg‘ is a polyn;)mial?
£2 1508 TS” I8 2.8 58?2
(1) x*-6Jx+2 (2) :

X =3x+1
(B) 5x2-3x4+3 @ 2x2-243
X

If o and B are the zeroes of the polynomial f(x)=6x?+x-2, then the sum of
zeroes is

flx)=6x2 + x -2 &3 250588 Ko BITIED O, P ©00B T I0Ho Je0D

1 l 2 1
(1) 3 (@) =g
1 : an L
B &2 @ 3
36. If the zeroes of the quadratic polynomial ax? +bx+c(c#0) are equal, then
ax® +bx+c(c#0) & B DTVIB Bk, Trarses BhrTgd
(1) cand a have opposite signs (2) cand a have same signs
C 558050 a e H5BBE KO8y ¢ 2080k a e &8 HEH KR
£OR DHyoeron Hoeron
(B) B2 44ac (4) None of these
: BD 5°)
37. If o, B, y are the roots of 4x° —6x° +7x+3=0, then the value of af+py+ya is
453 — 652 +Tx+3=0 GBoY, Drered a, B, ¥ &0 @o0d, off + Py + yor BE), Devd
7 oy —
- 4
() ==
2 s
(3) .5 (4) 0
| SPACE FOR ROUGH WORK /9E)D05 fida

)|k l



L t correct?
ing statements is no

Uhich of the following

28. ‘Vhl(.-h [

Ssest 8 SBENE SE? e i ol S8
&6 (00 | fa rational number and an irrational number is an rrational n
m o '
El] The su

L& 0E58a0 Hogs SUBA &8 SSB0H SoRge BVEO 2l sde%'aﬁa oz -e@mga. i
(2) The sum of two irrational numbers need not be an irrational Number,
Bock Se8ab oy B0 &l Keddl Hog) B0 B,
(3) The product of a non-zero rational number and an irrational n
irrational number.
28 RIRYBO 5o Soa)g DBk a8 S50 Soge O0 2.8 §8e30% R0g)5 eB08,
(4) The product of two irrational numbers is always an irrational number,
3ot £8EaD Soase emo Jexpeir a8 Sdah Sosg ©BOB. |

33. 1

U,

- 34.
umber s

29. The HCF of 306 and 657 is -
306 0801 657 © K., -

(14 10

(2) 8
(8) 9

(4) 7
30. The value of 10g2_32 is

log 32 @wy) vens
(1) 2 (2) 32
& s @ o 36.

e

2) _{{3;4}} cA
(4 None of these

P

Bumber of elements in g pgs | CoPeCtively, then w

37.




TR ”
) -W . ‘.-.fl. . *"\.
e - — —— — —

< 1he imi ; ‘
25 upper limit of the median class of the following frequency distribution is

&5 1808 TRV Deresdos®, QD BERS Do e

Class Int
nterval 50-70 70-90 | 90-110 110-130 | 130-150 | 150-170
SOAS wo¥so

Frequency 15

21 32 19. 8 <
SREDRg0 .

9 (1) 110 2 90

(3) 130 4) 70

e L0 -
. _210 1S a

140
210

008 al

(1) terminating decimal
o8BIy SToEo

(2) non-terminating and repeating decimal
o0 S0 HoBOH SS5GS STORO

(3) ﬁon-terminating and non-repeating decimal
©0oB0 5°9 HuBak eHP0 S°R ET0BO

(4) None of the above |

BN 5°D)

27. The remainder when the square of any prime number greater than 3 is divided by

6 is

3 Eolh 5P P SFD 15095 BN, DO 6 D grRodm Hido) Bad0
(1) 1 2] 2

(3 3 (4) 4

i = SPACE FOR ROUGH WORK /980508 b



21. The average of the observations 10, 20, 65, 102, 108, 115 is
qygeas 10, 20, 65, 102, 108, 115 ovde @Bas), Sifew
(1) 50 (2) 70
(3) 60 (4) 40

22. If 35 is removed from the data 30, 34, 35, 36, 37, 38, 39, 40, then the Mg
increases by

30, 34, 35, 36, 37, 38, 39, 40, Berotos® 35 o FoRoDBeND, T 0KE D0 gy
(1) =0 (2) 15
(3) 1 (4) 05

23. The modal class of the following frequency distribution is

54 (BB 9595 DEFeHAN Y, LrIVHES) BENE

Class Interval 0-20 20-40 | 40-60 | 60-80 | 80-100
BENS eodBo

Number of Students 15 18 2 29 17
.bc;dge) Sogy

(1) 80-100 @ 0-20

(3) 60-80 @ 4020

P
. P :

24. If the mode and mean of X :

~ data is of a data are 24 and 60 respectively, then the median ©

S
o b TR0 3060 w0t sutigiuo st 24 DB 60 e0nd, e S50

Bots/bo
u’/ (2) 48
3) 47
3) 4) 46
e
SPACE FORIROUGHWORK [ O¥OHHE R0 i
: 4 e
. AL MeE A '
— {
= ¢ I o ’

25.

26.

27.

The

59 8

[ Clas

ot

Frei

F gy

(1)
(3)

14
21

L‘E

(1)

(2)

(3)

(+)
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17. If the probability of guessing the correct answer to a question is = and the probability

18.

19.

20.

12

of not guessing the correct answer is 3’ then the value of x is

o8 Y HBALH =
. B DO DRATGH0 SO0 A0 o Hogrsgh 1 2081 @0 BB 2w Sogrigs
S S8, x dend

8
(1) 45 s
SR _ 4) 05

A box contains 24 balls of which x are red, 2x are white and 3x are blue. A ball is
selected at random. What is the probability that the selected ball is not red?

24 woBoed Ao 28 DPES® X Y, 2x BewH B080K0 3x deo Kok wokven L. 06" 2008 2.8
208D 87, & 20 ) B0 S IHLDH Ko Hogrsd

(1) (2)

(3) (4)

W= o=

Two dice are thrown at the same time. What is the probability that the sum of the
two numbers appearing on the top of the dice is more than 107

oty ey 2EaB JHEBTE. T Hogrep Hiby Soage Ingo 10 K083 o), eKreatd Ko Sogrdgd

J08B7?
1 s
(1)-. 3¢ (2) 19
1 el & 4 1
3) 26 | ) 13

ards of spades are missing from a pack of 52 cards. A card

2 cards of hearts and 4 C _ .
the remaining pack. What is the probability of getting a

is drawn at random from
black card?
& Eyy° ryisairsd 108 Ko 2 seten $08050 4 s°hen SnBen 8. RS S 5Y

5308 .8 S afreydpsorn BaHIT e He0d) S0 578 L o Sogragh

50 %€ sk Ko e

22
22 2) =
" i
24 MIs
@) =5 W 26 S

SPACE FOR ROUGH WORK [ DESHE RS



12. If tan48°. tan23e. o
23°-tan42°. tan67 =tan(A +30°), then the value of A is

tan48°.tan23°. tan 490, tan67° = tan(A + 30°) eowd, A sevs
(1) 30° (2) 45°
(3) 60° (4) 15°
. a4
13. If asin45°= bcosec30°, then the value of 3 is

4

asin45° = bcosec 30° 90008, 3—4 GoE); dewsH
(1) 1 (2) 2°
(3) 23 (4) 2°

14. If sin?6+ cosec?0 = 6 , then sin® +cosech =

sin 0 + cosec?0 = 6 ®od, sind + cosech =
(1) 32 2) 22
(3) 42 @ vz

the entire height of the tree?

20805 @8 s 45% S0 3@:\5&%)&»3, & Do B, IBo I JoH?
(1) 15m (2) 20m

(3 101+y2)m (4) 1‘0'[1+'f§)m

F4

16. If Lwo .towers of h'cigh-tsf ?}I and h, subtend angles of 30°
midpoint of the line joining their feet, then the ratio of h_ - h, is
e

hy 20605 h, e EORS Bocs Rdoren 3 PO EODS Bar
Dot 6l Searen ST 30° 5080y 60° 0B, %3 Jvve DB R, i h =
(1) 25 (2) 1-'; e
;;!] 8:1 4) 1:3

15. A tree is broken by wind, its upper part touches the ground at a point 10 metr
from the foot of the tree and makes an angle of 45° with the ground. Then what.

2.8 ey 1O 28Ro8. o 28R P &7K0, BEID a0 (3r%0) Bod 10 Soeoss ErEos® Dos o

and 60° respectively at”

Po&o QAE), g Do) o

S ' I, - * : __
PACE FOR ROUGH WORK / DBGSDE Reisian




7. In the given figure, the radius of each outer circle is a, then the radius of the
inner circle is

S0P D008, (360 o 30 G, Ty a e, 650 8 g

O. 1 (1) W2+1) el el

B «2-1 (4) aW2-1
B = I
8. If the le: , breadth and helght of a cuboid are 8 cm, 3 em and 4 cm respectively,

then the total surface area of the cuboid is
a8 53:134‘60 ti‘b.)gb DD, 365&3), Q&J {)é‘ban’ 8 cm, 3 cm, 4 cm @00, &5 Bgﬁbéo Boo¥); }éo‘@‘géﬁ

&=

" .

3?&50
(3) 136 cm? ' 54) 108 cm®

9, If the volume of a cylinder is 500 m° and the area of its base is 25 m?, , then 1ts >
height (in m) is
2.8 S50 G0k, o3850 500, m° 508050 TR arpTeg 25 m? 0008, 70 I8y 20ea8S”

(1) 20_ (2) 15
(3) 50 (4) 30

10. If secO+tanf =k, then secO—tanf =?
secO + tan@ = k @o0d secO —tand = ?

1

(1) k @ =

5 ) e S

(3) K° @ iz
11. If sino+sinfi+siny = 3, then coso+cosP+cosy=

sing.+sinp +siny=3 e90008 coS 0L+ CosP+cosy =
(1) © (2) 1

ol (3) 2 . (4) 3

[ SPACE FOR ROUGH WORK /D08 geoan



